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| ndefinite Integrals

Key pointsto remember

> Integration isthereverse process of differentiation.
> Let== F(x) = f(x) then writd f(x)dx = F(x) + C.
» These integrals are calleadefiniteintegrals and c is calledonstant of integration.
» From geometrical point of view an indefinite integratad ection of family of curves each of which is
obtained by translating one of the curves parallel to itself upwards or downwards along with y- axis.
ASSIGNMENT
N i d
1. f(2X+ e?()2 dx 2. f32X ® dx 3. J‘smxlsin3x dx 4. f X/cos (x-a)cos(b)
5. [ sin®x dx 6. [ tarfx dx 7. [/ tan x dx 8. [+/ cotx dx
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13. [(cos2x-cosp)y cosx-cog)dX 14, [ sin"*(cos x) dx 15 dx/ ¥ +e™¥) 16/ Ve*— 1 dx
17. cos 1(;:3‘2 ) 18. [ cos(sec x - tan x)dx 19 ez sin€ +-)dx 20 esin* sin 2 dx
x5 sinyx 1-sinx e 11
21. [ o O 22 = dx 24 e ( ) 24f e7* -+ ) dx
. _1\/—_ —1\/_ l (l )
25. [ 2::_1\/; 222—1\/; dx 26/ cos/x dx 27[ (e?lo8x + gxloga) gy  28.[ =522 dx
29.[ @x+1)vx2+4dx 30 (2x-5W1—-3x2dx 31 logx sinx dx 32f sin x log(sin x)dx
x24+2x+3 x%+1 L1 x xtan~!x
33f Nrcrwsi dx 34f e dx Sﬁ sin /a+x dx 36f (1+x2)% dx
1,1 sin~1x
37 f cosx(5 4sinx) 38 f 51nx(3+2cosx) 39f cos (;) dx 40‘[ Vi-x dx
1 -1 2 2 -1
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x? xtan"lx 3+tanx
46'[ 16—x© dx 41 (14x2)2 dx 48f cosx
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x
49'f x3-2x%-5x+6 dx

57.) s
61. [
65. | xy/x% + a? dx

sin X+COSX

atx
d

69. [

73 f sinx

sin 4-X

77. f tan3x dx

81. ] seéx dx

85. [
89. [ ————

CcoSs 2x
dx

cosxsinx

501 x3-1

(x+1)(x+2)(x+3)

1
54[ 2e2X+eX—1 dx

58_[ _SLCJX
sinx+cosx
6%( 1+\/_\/—

1-x
66f X de
70f X V14 x*dx

74 —

(2 +1)Vx dx

78. sirfx dx

82f sec2x cosec?x dx

3cos®x—2sin3x
86) ——————— = dx

sinx cosx

gof cosx+sinx dx

(asin x+bcos x)2 1+sin2x
+ tanx
93.[ (tarfx+tar™) dx  94.[ |
dx cosx
97. f (sinx+2 cos x) (3 sin x—cos x)98 f cos (x+a)

FROM BOARD PAPERS

1. [ &

1+sinx

5. [ sin"(3x-4x3) dx

7| tan'l(;—z) dx

6f e*cosece” dx

9. f e*(secx +secx tanx)dx 1gf. V1 —x?dx

13. f 51n4x X

sinx

14f e* cos x dx

51 e*

sm 4x—

4-

1 cos 4x

52‘. loxgzx dx

an®p

55[ (tan a-+an’a)(1+tan 30)do 56, 2Bt F

59 e*

63 sirx codx dx

67
71

79

79

8B.vx?— 10x + 29 dx

1+xlogx

1

Jsin*xsin(x+a) dx

1

(a+bcos x)

1+tan®x
d

1-tan3x

1

sinx+tanx

95f va?+ x? dx

99 +/x2 — a? dx

Y =
7

11 seéx tan x dx

15.

2+1

2x

(x2+1)(x2+2)

X

x4 +x2+1

dx

1-3tan?p p

60/ (x*+x)e* dx

64 ——

3+2sinx+cosx

68) —r

sin3x+cos’x

72f cosXx dX

cos3x

sin 2x

(1+sinx)(2+sin x)

80f X sin 3x cos 5xx

84f V15 + 4x — x? dx

97 —— dx

a"—x

96f va? — x%dx
100 (x-2)V/1 = 2x — x%dx

4 sin 2x
" 2

acos’*x+bsin*x

2x+5
8f (xz—x 2)
12f 2E* dx

16f Xsinx S_;“_‘;f dx
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17. (x+1)(x log x} dx

21f e*sec x(1+tan x) dx 22f

dx
4+1

25.[ (sinxcozsx—l) e* dx

sin‘x

va—x
29, Yo ox 39 «m\/ﬁ
3x+5 e*(2—sin2x) sm2x)
33. f x3-x —x+1 34‘1‘ (1—cos 2x)

37.f xWI+x—xdx 38, xJ

41f 2sin 26—cos 6 dx

6—c05%0—4sinf

(2+51n2x) oX

45f Vx= a/ ‘f (1+c052x) dx
49. f Jx(1-2x)

54 x tari’x dx

f x%+1 f x?
57. Tr211 dx 58 mdx
2

61. [ x3e* dx 7 (ff‘j ) dx
65 J-coszx+25mz 66f \V1+cos2x

69 ] . cos 4x cos 3xdx 7. ﬁ

73. [ (@x-B5WxZ—4x +3dx 74.[ x3cos ¥ dx

7. f (cot x+log(sin x)g*dx 78. f

(x2+1)x

dx dx
81. [ e 82 D
85. [ x log(x+1) dx 86/ o+ %

18.f cos 2x log(sin x) dx

26.] x2 sin*x dx

42 e~*sirPx dx

x*tan"1x
19, 22 % gy

1+x
xlogx
Zi (x+2)(x—1) dx

x +x—6
27f (x-2)(x-1) 1)
3 ———

35 L dx

x4 +x2+1

x cosz(1+logx)

dx
44 (=) (x+1)(x+2)

47[ sin'x dx

50[ sec x log(sec x+tan x) dx  5fl. sec*x dx

3‘ 1- tanx
) 1+tanx
59 x3log 2x dx

dx
Y
9x2+12x+13
X +1
67. 5
+1

71 x tari’x dx

20f

cosx
(1+sin2x)(2+sinx)

24 (x2-4x-3) dx

28 e*(tanx + logsinx) dx

32f x—sinx dX

1—cosx

sef 224

x dx
40f T dx

44 (2x-1)(x — 3)3dx

48

1+x4

52f dx

(1+cosx)

56f x%+2

(x2+1)(x2+4)

dx
x3+x2+x+1

64f

68f e**cos(bx+c)dx

5
72f (x2+1)(x+2) dx

75 LQsinXcosy) gy 76 [ (2x+3WxZ + 4x + 3 dx

cos2x

79

dx
8d.
x24+6x+12

cos2x

X
81 Vx2—-6x+10

dx
8d V2x+1+V2x+2

84f \/ﬁ

88[ x cosix dx
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89. [ e*(tan x + log(sec x)d®0. | sin(log x) dx of. e(z(j:)’? dx 92f tar'(vx) dx
93. [ V2ax — x% dx 04f 2. oF. log[x+VxZ + aZ dx 96.f cco(;sSz; dx
X2+x3
dx
97'f (4+5 sinx)
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